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Choose the correct option (1 x 15=15)

Z‘ If(x + i) Y3 =a+ib, theng +g-=
I CYRY (b) 1 (€ -1 (d) none of these
2| (J-2) (- 3) is equal to B
(@) Ve (b) - V6 () iV6 (d) none of these
_3 The value of (1 + 1)4 + (1~ 1)4 is

() 8 (b) 4 (c) -8 (d) -4

4. IfJa+ib = x +iy, then possible value of JETII; is

(a) x2 +y2 (b) 1; +J/2 (C) I+f_|f (d) X—iy
5. Ifz=cos =~ +isin , then
4 6

(@) |z| = ],arg(z):% b)|z] = ],arg(z):ér

3 1 1
(0)|z| = %mrg(z):gg @d|z| = —?,arg(z)ztan ! 7

6. The polar form of (i°)3 is

no. .. n
(a) COSEHSlng (b) cos t+isin n (¢) cosm—isin (d)COSEﬁISIHE



10.

11.

12.

13.

14.

15.

. Ifi? = -1, then the sumi + i2+id . upto 1000 terms is equal to

(@)1 (b) -1 (c) i (d) 0
-2
Ifz = T7i/3 then the value of arg(z) is
@) n n 2= d) ~
(b) 3 () 3 (d) n
Ifa=cos @ +isin 0, then1—+-—a =
1-a
0

(a) cot > (b) cot & (i cotg (d) i tan g
KA+ @ +2)(1+3i)....(l +ni) =a+ib, then 2.5.10.17 .....(1 +n2) =
(a) a—ib (b) a% ~ 1?2 (c) a* +b? (d) none of these

2 2
It %}%—— =x + iy, then x4 y2 is equal to

(@ +1* (a+1)° (a® -1)°
(a) —5—— ——— d

4a% +1 4a% +1 (4;12 ~l)2 {d) none of these
The principal value of the amplitude of (1 +7) is

i T 3n
(a) " ()] o (c) e (d) ©

2i 4

The least positive integer n such that(l—:? is a positive integer, is
(a) 16 (b) 8 (c) 4 (d) 2

=2
|Z]

. Z0.
If z isa non-zero complex number, then|-— is equal to
2z

(a)

§| () |z | © 7]

(d) none of these

If a =1 +1i, then a° equals

(@) 1-i (b) 2i © 1+ (-3

(d)i-1




